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(iii) margin of safety as a percentage of sales.

(b) Calculate the sales units required if the company wishes to make a profit of
$36000

_vadvSIHLNIGLMIONOG
DONOTWRITE IN-THISAREA

(c) Prepare a conventional break-even chart, using the graph paper on the next
page, for output from 0 to 3 500 units, using the budgeted information, that
clearly shows:

. fixed costs

- total costs

- total revenue

« the break-even point (in units)
« the margin of safety (in units).
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BLANK PAGE

QUESTION 2 BEGINS ON THE NEXT PAGE.
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(b) Prepare the optimum production schedule that will enable the company to
maximise its profit.
(4)

(c) Calculate the profit resulting from the production schedule in (b).

9

R A RS0 0 Turn over »
P 5 4 3 1 7 A 0 9 2 4 urno




VIUSIHLNEILIYM ION.Od

DO NOTWRITE IN:-THIS:AREA

VIYY STHL NEZLIALON 0

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

estion-2- =19 marks)

r O

+

dirCUs LS.

=

=y
I

reme

yirs
7y

Lost

(i)

unk
{iiydifferent

(d) Explain the meaning |of the following terms, giving an/example of each

0 2 4

1 7 A 0 1

3

4

P 5

10




e
L
o
oo e
P
e
SRS
‘E
=
S0
=
S

BLANK PAGE

QUESTION 3 BEGINS ON THE NEXT PAGE.

J
11

AR A R0 T Farm over b
P 5 4 3 1 7 A 01 1 2 4




VIUV SIHENEILIHM ION.Od

DO NOTWRITE IN:-THIS:AREA

YIUY SIHENEZLIHMNLON:OC

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

=
Y
ﬂl I“
= = D
. - 95
on d nmﬂ o] C
p=d i e O
— S i = H O
= EE = 1= A
gt =
9 D D D D D D == T
— S P=s! O = B o A 7 . \u
e D D g ¢ ¥ iy L 0 A
T » A o -
= Y v 1A A A [ D N = - & o] >
v ¢ 9 | O ¢ le s : = n
< : phi M b P s < k)
= mﬁ a Y (5]
: 5
g 1= < % Fam) m o
R : b
I i N .W w408 o]
> < o K & O ).
Q A e D on| ® L
- | VF S rary S h
o D
w.n — fis - U Q L % s
D — 1= > ) =
+ = O = 7
v L - . ) o 3 ) a 3 ~ m
= = D D \&= = D - - jon 3 P -
wi S| 7 K e H —— T * == —r '
o 4a c P S t N n & % | an = == 1T e
ot B U O Qg Q T T o)) Y = N " H er = OB Y
= f Pl [, [o's D o, ) (o, < ur A A Y 5 O
- o PaE — — M - mol Iy ™ = z N - ) i
C [ -+ B 7 7] DY ) 55> S d Ly =
> Y 3 T N o} = n = —
© - S o 2= NN c ] . .u ==
: S = d S =
“ = (@ = 2 R a 5 L oy £ a .m-w. > =
N aon ) N ) N _C
MEIE il S o el 2 &0y =R}
o] (U] q = A =Y ) == C -
— S H 5 o - ) & £ = 7 o w5 7]
5 ; ; : . I
- » 0 s = = =
ke : e g0 0 2 51 ¢ D
-y - — = T 5 Y e o
MBI .W“ = H O Ol wE [ BT L% o} 0 o
3 14 D = g 4 ]
.w 12| B —_ ) - (Tusy Sy T S n —
T |M d 05 ] @ L=l &
< w ) i = 3 = D i T, &
o =k = [ FE-IR o i ¢ = = ] e e Vo 7
s i o a L1 3 o] - 7 mm A 3 D =
© V| = BN H o ¥ = £ o % 5] YO - o = )
%] <= 8 > == = -
(O] = g = [, s SIS o c 8 - 4 2 & © RO} i)
+— S| © V] &) a (@) > - = & ‘T L - - '- 5 TS A
S—o=2 S 215138 I TN A o o~ <o | o = B S [
@ = - q & @ ok q 2 9 d o o) A Q - q R
o S| S = & > 9 3 OB = D 4 ) =+ O
ol |IS! s ! d . o || 8 d o D || & D 5ol Fllells5lw]2 a c c 5 )
ST AR EESRAE SN EE KA EEE NI - E 203 5| 2
S g =l [FlalgllglBlollg g0 @ 4 it
= R = on B = =
ul < = " N . P L L . r r -
2 d [ ps 4 i b4 3 é ik =
S = a = a vt -+
(G- m. o || H W W o || i | o <C
o 7

1 7 A0 1 2 2 4

3

4

P 5

12




VAUV SIHLNI 3UMM LN OG-

“DONOTWRITEINTHISAREA == =

 DONOTWRITEINTHIS AREA

- DONOTWRITEINTHISAREA =

(a) Calculate the profit that would be shown in the cost accounts, for Period 1, by
means of a profit reconciliation statement.
(16)
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(b) Explain two benefits, apart from dealing with overdrafts or cash surpluses, that a
company might obtain from preparing budgets.
(4)
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(2)
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(Total for Question 4 = 20 marks)

‘DO NOT.WRITEINTHIS AREA.
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N
The company is considering allowing the collection period for trade receivables to
increase by 12 days for Year 4. This would result in:
+ a20% increase in total revenue and a 20% increase in the cost of sales
+ the value of inventory increasing by 15% to cope with the new demand
« the payment period for trade payables increasing by 18 days to finance the

increase in inventory and trade receivables.
(b) Calculate the expected change, indicating whether this is an increase or decrease,

in the working capital cycle for Year 4 (rounded to whole days).

(5)
y,
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(d) Evaluate whether the company should proceed with the proposal for Year 4,
commenting on all three elements/aspects of the working capital cycle.
(6)

(Total for Question 5 = 23 marks)

TOTAL FOR PAPER = 100 MARKS
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